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NEW QUESTION 1
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FCo00::/7
D. FF02::1
E. FF02::2

Answer: DE

NEW QUESTION 2
Which two actions are performed by the Weighted Random Early Detection mechanism? (Choose two)

A. It drops lower-priority packets before it drops higher-priority packets
B. It can identify different flows with a high level of granularity

C. It guarantees the delivery of high-priority packets

D. It can mitigate congestion by preventing the queue from filling up

E. IT supports protocol discovery

Answer: BD
NEW QUESTION 3
When OSPF learns multiple paths to a network, how does it select a route?

A. It multiple the active K value by 256 to calculate the route with the lowest metric.

B. For each existing interface, it adds the metric from the source router to the destination to calculate theroute with the lowest bandwidth.
C. It divides a reference bandwidth of 100 Mbps by the actual bandwidth of the existing interface to calculate the router with the lowest cost.

D. It count the number of hops between the source router and the destination to determine the router with the lowest metric

Answer: A

NEW QUESTION 4
What are two characteristics of a controller-based network? (Choose two)

A. The administrator can make configuration updates from the CLI

B. It uses northbound and southbound APIs to communicate between architectural layers

C. It moves the control plane to a central point.

D. It decentralizes the control plane, which allows each device to make its own forwarding decisions
E. It uses Telnet to report system issues.

Answer: AC

NEW QUESTION 5

Which unified access point mode continues to serve wireless clients after losing connectivity to the Cisco Wireless LAN Controller?

A. sniffer

B. mesh

C. flexconnect
D. local

Answer: B

NEW QUESTION 6

What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded
D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 7
Refer to the exhibit.

ip Arp inspaction visn 5-10

interface fastathernest 0/1
switchport mods AcCC8sSS
switchpart Access wlan 5

What is the effect of this configuration?

A. All ARP packets are dropped by the switch
B. Egress traffic is passed only if the destination is a DHCP server.
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C. All ingress and egress traffic is dropped because the interface is untrusted
D. The switch discard all ingress ARP traffic with invalid MAC-to-IP address bindings.

Answer: D

NEW QUESTION 8
Refer to the exhibit.

Rlf show 1p routa

192 168 . 16.0/26 [90/2679326]) wia 152.168.1.1
192 .168.16.0/24 [120/3] wia 192 .168.1.2
192.168.16.0/21 [110/2] wvia 19%2.160.1.3

L1 192.168.16.0/27 [115/30] via 192.168.1.4

- 0®0

Which route does R1 select for traffic that is destined to 192 168.16.2?
A. A.-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 9
Which IPv6 address block sends packets to a group address rather than a single address?

A. 2000::/3
B. FC00::/7
C. FE80::/10
D. FF00::/8

Answer: C

NEW QUESTION 10
Refer to the exhibit.

[rootiEoscTes: ~]§ 1ip routs
default via 192.168.1.1%3 dev ethl prote static
192.168.1.0/26 dev ethl proto kecnel scope link src 192.168.1.200 metcic 1

[root@BostTest ~]§ ip addr show ethl
ethl: =ty 1500 qdisc pfifo_fast gqlen 1000
linkfathar 00:0C:22:83:79:A3 brd ff:fr-ff - fe-FE:-ryF
inet 192.168.1.200/26 brd 192 . 168.1.255% scops global sthl
inats felB0::20c:29fC fel:79D2/64 scope link
valid l1ft forever prafarred lft foraver

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.
1

Tedal TN .

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NIC MLAC ao0ress

SNt mass

host [P zddress

NEW QUESTION 10

Drag and drop the AAA functions from the left onto the correct AAA services on the right

recorgs user acovities

rastricts the senvices that are available to a user

uthenbcation

identfies the user

controls the acthions that a user can perform

Iuthorization

provides analytical mformation for the network admunsstrator

varfies the password assoCated with & user

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 13
Refer to the exhibit.

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1

Backup Designated router (ID)10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5

oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)
Cisco NSF helper support enabled
IETF NSF helper support enabled
Index 1/1/1, flood queue length 0
Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec
Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4
Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)

Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF
B. A point-to-point network type is configured
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C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 15
A user configured OSPF in a single area between two routers A serial interface connecting R1 and R2 is running encapsulation PPP By default which OSPF
network type is seen on this interface when the user types show ip ospf interface on R1 or R2?

A. port-to-multipoint
B. broadcast

C. point-to-point

D. nonbroadcast

Answer: C

NEW QUESTION 20
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 21
Which result occurs when PortFast is enabled on an interface that is connected to another switch?

A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down
D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A

NEW QUESTION 22
Refer to exhibit.

Router (config) #interface GigabitEthernet 1/0/1
Router (config-if) #ip address 192.168.16.143 255.255.255.240
Bad mask /28 for address 192.168.16.143

Which statement explains the configuration error message that is received?

A. Itis a broadcast IP address

B. The router does not support /28 mask.
C. It belongs to a private IP address range.
D. IT is a network IP address.

Answer: A

NEW QUESTION 23

When a floating static route is configured, which action ensures that the backup route is used when the primary route fails?
A. The floating static route must have a higher administrative distance than the primary route so it is used as a backup

B. The administrative distance must be higher on the primary route so that the backup route becomes secondary.

C. The floating static route must have a lower administrative distance than the primary route so it is used as a backup

D. The default-information originate command must be configured for the route to be installed into the routing table
Answer: A

NEW QUESTION 26
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.
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prowiges reébabaty when lbaaing an 10S /mage upon boot up

goes Nt requre user authentication

uses pot 69

wsesports 20 and 21

usss TCP

uses UDP

A. Mastered
B. Not Mastered

Answer: A

Explanation:

prowvides relabaty when lbaang an 105 image upon Doot up

goes not reguere yser juthentication

uses port 69

FP

FTe

prowdes relabisty when loaaing an 105 image upon boot up

usesports 20 and 22

uses TCP

uses ports 20 and 21

uses TCP

NEW QUESTION 31
Refer to the exhibit.
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An extended ACL has been configured and applied to router R2 The configuration farted to work as intended Which two changes stop outbound traffic on TCP
ports 25 and 80 to 10.0 20 026 from the 10.0.10 0/26 subnet while still allowing all other traffic? (Choose two)

A. Add a "permit ip any any" statement to the begining of ACL 101 for allowed traffic.
B. Add a "permit ip any any" statement at the end of ACL 101 for allowed traffic

C. The source and destination IPs must be swapped in ACL 101

D. The ACL must be configured the Gi0/2 interface inbound on R1

E. The ACL must be moved to the GiO/1 interface outbound on R2

Answer: AE

NEW QUESTION 36

A router running EIGRP has learned the same route from two different paths Which parameter does the router use to select the best path?
A. cost

B. adminstrative distance

C. metric

D. as-path

Answer: C

NEW QUESTION 41
Refer to the Exhibit.
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After the switch configuration the ping test fails between PC A and PC B Based on the output for switch 1. which error must be corrected?

A. There is a native VLAN mismatch

B. Access mode is configured on the switch ports.
C. The PCs are m the incorrect VLAN

D. All VLANSs are not enabled on the trunk

Answer: A

NEW QUESTION 44

Which statement about Link Aggregation when implemented on a Cisco Wireless LAN Controller is true?

A. To pass client traffic two or more ports must be configured.
B. The EtherChannel must be configured in "mode active"
C. When enabled the WLC bandwidth drops to 500 Mbps
D. One functional physical port is needed to pass client traffic

Answer: C

NEW QUESTION 48

Drag and drop the functions from the left onto the correct network components on the right
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DHCP Server

hoids the TCP/IP setungs 1o D¢ dstnbuted to the dents

resolves web URLs to IP aogresses

stores a kst of TP addresses mapped to names

255005 3 0efault gateway 10 3 Chent

DNS Server
assgns [P addresses to enabed Chents

A. Mastered
B. Not Mastered
Answer: A
Explanation:

_— - e e s DHCP Server

1 I
hoids the TCP/IP serhngs to be dstnbuted to the chents | | hoigs the TCP'IP semngs 10 De dtnbDutad to the Chents

T e T e e L T T T e T

resohves web URLs T [P aodresses | 1 resoives web URLs to IP addresses

stores 2 kst of TP addresses mapped 1o names

i
=
assgns 3 02fault gateway 10 3 Chent I
stores 3 bst of [P addresses mapped to names I
sss.gns TP addresses to enabled Chents

25005 3 Jefaut gateway 10 3 Chent

NEW QUESTION 49
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